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a) 13 b) 23
c) 34 d) 36
e) 33
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for which of the following values of n is
100 +n

NOT an integer?

a) 1 b) 2
03 d) 4
e)5
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If the quotient ;—; is positive, which of the

following must be true?

a)a>0 b)b>0
c)ab >0 da-b>0
ela+b>0
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What is the lowest positive integer that is
divisible by each of the integers 1 through 7,

inclusive?
a) 5040 b) 2520
c) 1260 d) 840
e) 420
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In a certain sequence of 8 numbers, each
number after the first is 1 more than the
previous number. If the first number is -5, how
many of the numbers in the sequence are
positive?

a) one b) two
) three d) four
e) five
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The sequence al,a2, a3, ..., an, ... is such that
Ap-1 + )

a, = — If a3 = 4 and a5 = 20, what

is the value of a, ?

a) 12 b) 18
c) 19 d) 22
e) 28
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If nis an integer, which of the following must

be even?
ajn+ 1 b)n+ 2
c) 2n d)2n + 1
e) n?
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If p is an even integer and g is an odd integer,
which of the following must be an odd

integer?
aZ b) pq
q Q) 2p +q
d) 2(p + q) &) 3p
q
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C

The sum of prime numbers that are greater
than 60 but less than 70 is

a) 67 b) 128
c) 191 d) 197
e) 260
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sl sl Slsbs

dulsy] Slacill aclss S35 o

70 - 60 o AoVl ol5,V1 31> @
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43546 slocl
B
0.1+ (0.1)2+(0.1)% =
a) 0.1 b) 0.111
) 0.1211 d) 0.233
e) 04
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iy Ll
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(1/2-1/3) + (1/3 - 1/4) + (1/4 - 1/5) + (1/5 -
1/6) =

a)-1/6 b) 0
o) 1/3 d) 1/2
e) 2/3

)9Sl goz &l azgl Jlgudl o gl
iy Ll
(=l sl Olghas
dadss ddy oy lezdl sl Sy Jo @
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deluy Jog pulgdVl dljl liSey Jo zuali @
by jw Dlgzdl sl (no S
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602
1.03 « 4.86
a) 10.3 b) 12.02
c) 13.7 d) 14.15
e) 15.19

Gldl jusl) &l szl Jlgudl o wglball
d=dl byl Olghs
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7 1
the sumg + 5 is between

a) 1/2 and 3/4
c)land 11/4
e)11/2and?2

b) 3/4 and 1
d11/4and 11/2

Sl dagd) Jlzo sl JIgudl o wglball
&bl
=l slsul Slghs
dauldi day g wlgxdl syl Sy Jo @
$3azall Cisgll yaud
092 3l J> Guyb sl e Jos]l @
Ilbolio 3uzgil Aol
(1) o yol gl JS17/8 Ja @
1/8 o y2u0l gl 1S11/9 Jan @
(1) oo y20l gl 11S11/9 + 7/8 Ja LWL o
oo J8l sl dass ol giiwd gl go o
Julay (1)

V(16)20)  (3)(32)

a) 4\20 b) 24
c) 25
d)4V20 + 84V20 )32

Gludl jizl dous Sl Jlgudl o wglball
(d=dl syl Slghs

59> iy @y Lyl sl oSy o
Sdwls plaziwl
3l d> Guyb sl e Josll
038 Jio) duwliadl Sbzgilyiwll oo
JSuidl i dadyiwl o diw)l
day yhy (8)(32) LS salel Sy o
yazdl sl Jeuwd dalize

17

- Bl Jlgudl dali-
Llaicl jizdl dors wlus VI Sy S @
soiall yolgs e
(2 x16) Sglui (32) zauoli

B
3
10000064
a) 0.004 b) 0.008
) 0.02 d) 0.04
e) 0.2

Gl )izl deus Skl Jlgudl g0 wgllnall
&l
:J=l szl Glghhs
093 sy ddy yhhy il bl (Sey Jo @
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syl d> b skl wle Josll @
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day 4y (0.000064) 4 US sslel Swey o @
Ilaicl )izl dous Ll GVl (Sey Jo o
193l Shuwlwl (e
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What is the smallest integer n for which
25" > 5127

a)b6 b) 7
Q)8 d)9
e) 10
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Which of the following expressions can be
written as an integer?

. (V82 +\/82)?
I (82)V82

V8282

1.
82

a) None b) | only

) lll only d) land Il

e) land lll

Q! yuledl go sl aazi Jlgull go wglbell
J=l skl Slghas
volexd jile ubi Jlswll J> Sy @
sodlly yoil
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If the average (arithmetic mean) of the four
numbers 3, 15, 32, and (N + 1) is 18, then N =

a) 19 b) 20
) 21 d) 22
e) 25

OB 131 (n) dogs Ll JIgadl go gl
(n + 1)(32)(15)3) 15, W ulw=ll buugiall
(18) Goluy
1=l slayl Slghas
bzl hugiall (gils S35
oSy aluzll huwgiall 5gils (e Dlaicl o
(n) doys wlw>

Listl: 3,6, 8, 19

ListIl: x, 3,6, 8,19

If the median of the numbers in list | above is
equal to the median of the numbers in list Il
above, what is the value of x ?

a)b6 b) 7
)8 do9
e) 10

buug o8 131 (%) dasd 12gl Jlgudl o wglinall
duli)l degazall buugl Lglue (JgVl dcgazall
1=l sl Slghhs
slacl degazel buwgdl Glus dl Sii e
ooVl degazall hungll days a2l @
QI degozall hung ogSu (x) doud azgl o
apl)l degozall gl U gluse
sac o el Al dcgamall ol awiil
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In a small snack shop, the average (arithmetic
mean) revenue was $400 per day over a 10-
day period. During this period, if the average
daily revenue was $360 for the first 6 days,
what was the average daily revenue for the

last 4 days?
a) 480% b) 490%
c) 400% d) 460%
e) 500$

ol sl JA5 Jzo Slils) qoluwsdl busgioll
buiall 8,ia)l o3 JUs ($400) (sqluws dilull
($360) o8 gVl @il oL Slslsd (ol
dy8 50l da VUl ol8 M ulusl gLl (i
J=dl slzyl Slghs
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ol lgdbiy il osll] dogdll (o Lo o
8yu5V1 dsy V1 018, oLl bawgiall
busgioll o dogill 1id sl gSes Jo @
$5 pasdl oLV (b Slaslsel) (Ll
Sl g gazal il sy Jo miali o
oVl ol oLV JUs

D

in a certain population, there are 3 times as
many people aged 21 or under as there are
people over 21. The ratio of those 21 or under
to the total population is

a) 1to2 b) 1to 3
cl1to4 d)2to3
e)3to4

gl diw 21 yo=ll o edy Pl Lol dac
o€ adyac 4 Rl ol wlesl S\ Jsl
21

19

- Rl Jlgudl dali-
oo duw 21 o 320Vl o sV dui cuwsl
oSl jo I sac
=l sl Olghs
dpudl Ol 48y yb S35 e
dw 21 o JSVI oVl dae joya) o5 @
(%)
diw 21 oyl ol dac 550 oS @
(x) dVou
(9 &Yy WS g0l Eoano oSy oS ®
ol diw 271 o J8NI LoV duws a9l @
ISl > a=ll

bakery opened yesterday with its daily supply
of 40 dozen rolls. Half of the rolls were sold by
noon, and 80 percent of the remaining rolls
were sold between noon and closing time.
How many dozen rolls had not been sold
when the bakery closed yesterday?

a) 1 b) 2
c)3 d) 4
e)5

> 335l i ga 18 digze (40) elloy ao
2 it oS WSl e (%80) gl o yelall
&y o) puzsdl go sl
J=dl slal Slghs
dAe Cun dmy Ay uxedl s e oS @
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If it is assumed that 60 percent of those who
receive a questionnaire by mail will respond
and 300 responses are needed, what is the
minimum number of questionnaires that
should be mailed?

a) 400 b) 420
) 480 d) 500
e) 600

ogodiny (Ml oVl o (%60) ol luoys 151
doly LS 1319 gguglmm Jaeull yuc 8)laiuwl
Sl loiwdl go JBYI 3asl 9o Lo Llg> (300)
tlglwyi ol iz
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Sy ol

The price of a coat in a certain store is $500. If
the price of the coat is to be reduced by $150,
by what percent is the price to be reduced?

a) 10% b) 15%
c) 20% d) 25%
e) 30%

ydl yaas 131 ($500) j=ie (o wahso yuw
¢ uouasdl! du (o Lo ($150) Hlade,
:d=dl slsyl Slghs

otall yueill drw Olus o9ils S35 e
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0.2 +x

a) - 3.7 b) 0.1
c) 0.3 d)0.5
e) 2.8

if = 5,then x =

iy Ll Aolsall o (X) doss 3l wgllell
:J=ll skl Slghs
SVslsall b dpol Jl Slles)l S
o2 Ll Sy il Dbl o Lo @
Sl o yalzill
Wl adlzally )b I s lzoll Jiiy o5 @
3l Gyb
J22) lgs plidl oSay il Slobsll b Lo @
= x JSuid! oo @olsall

if x+5>2andx-3 < 7, the value of x must
be between which of the following pairs of

numbers?
a) -3and 10 b)-3and 4
c)2and7 d)3and 4
e)3and 10

wle lely () puad) Jlxo Syl wglball
ol iz lyiall
J=dl skl Slghhs
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There are 4 more women than men on
Centerville's board of education. If there are
10 members on the board, how many are

women?
a) 3 b) 4
Q6 d) 7
e 8

(4) © S| clwdd] dac godeil julxall Hous
(10) yud=odl cbocl sae o8 131 bl dae o
cbuwdd! yae Cws!
J sl Olghs
(X) ol sac yoyay o5 @
Sebwddl dae 5550 oS (X) Jodldac 8 131 o
cbacl sace e psi il dolsadl JSuis @
kol

If Jake loses 8 pounds, he will weigh twice as
much as his sister. Together they now weigh
278 pounds. What is Jake's present weight, in

pounds?
a) 131 b) 135
c) 139 d) 147
e) 188

dizl ()59 auomw djg o Agl (8) Jlz jus 15
el Iz jg 90 Lo gl (278) s &g
d=dl sloul Slghas
(1) I o35 poyss 8 o
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otisll Egaze e pusill (Say S o
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In a box of 12 pens, a total of 3 are defective.
If a customer buys 2 pens selected at random
from the box, what is the probability that
neither pen will be defective?

a) 1/6 b) 2/9
c) 6/11 d) 9/16
e) 3/4
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In the figure above, the value of y is

a) 6 b) 12
) 24 d) 36
e) 42

(y) dos 17g] Golul Sl o
0 [ e

duwigh b Llgil aclgs S35 o

() dogd > Sy Ja o

23 ol lely () dass ol oSan Jo

In the figure, the 6 small squares are identical,
each with sides of length 1. What is the outer
perimeter (shown in bold) of the entire figure?

a) 6 b) 12
) 24 d) 36
e) 42

JS &lo dylhie Slsyye (6) Glwdl Jsuil (o
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The figure shown above represents a modern
painting that consists of four differently
colored rectangles, each of which has length |
and width w. If the area of the painting is
4,800 square inches, what is the width, in
inches, of each of the four rectangles?

a) 15 b) 20
) 30 d) 90
e) 120

Job ollibiue gl oo allly Galwdl JSl!
luo Ul 131 (W) lgio IS yoyes () lgio JS
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If O is the center of the circle above, what
fraction of the circular region is shaded?

a) 1/12 b) 1/9
c) 1/6 d) 1/3
e) 1/4

ol @il dus oo Lo gabudl JSil (b
$8,5 1l dobuso o
sl sl Slgbs

dwigll ¢n0 Llgyl aclgs jS35 o
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Car X and Car Y traveled the same 80-mile
route. If Car X took 2 hours and Car Y traveled
at an average speed that was 50 percent
faster than the average speed of Car X, how
many hours did it take Car Y to travel the

route?
a) 2/3 b) 1
c)11/3 d)13/5
e) 3

bl Jsb g yhll puii wle olobud ol
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Running at the same constant rate, 6 identical
machines can produce a total of 270 bottles
per minute. At this rate, how many bottles
could 10 such machines produce in 4

minutes?
a) 648 b) 1800
c) 2700 d) 10800
e) 64800

b (270) aiii Galbio Guy Josi VI i
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- bl JIgul doms- A retailer purchased cups at $2.80 per dozen

d=dl syl Slghs and sold the cups at 3 cups for $0.90. What
da>lg dausy JUs 8aslg Al zlil asgl @ was the retailer's gross profit from purchasing
8a>lg dausy JUs OV nine zlil a>gl @ and selling 5 dozen cups? (1 dozen cups = 12
&3> gyl JUs OV e zliil azgl @ cups)
a) $0.90 b) $2.40
B c) $4.00 d) $11.30
e) $12.00
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Data Sufficiency - Ologlsall 45088
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Was the amount of John's heating bill for February greater than it was for January?

¢ |) The ratio of John's heating bill for February to that for January was 26/25
e |l) The sum of John's heating bills for January and February was $183.60.

a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
¢) BOTH statements TOGETHER are sufficient, but NEITHER ALONE is sufficient.
d) EACH statement ALONE is sufficient to answer the question asked.

e) Statements (1) and (2) TOGETHER are NOT sufficient to answer the question.
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What is the number of pages of a certain
journal article?

e |) the size of each page is 5 2 inches by 8
inches.

e |l) the average (arithmetic mean) number
of words per page is 250.
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TOGETHER are NOT sufficient

A company bought 3 printers and 1 scanner.
What was the price of the scanner?

e |) The total price of the printers and the
scanner was $1,300.

e |I) The price of each printer was 4 times the
price of the scanner.
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TOGETHER are sufficient

Each of the 256 solid-colored marbles in a box
is either blue, green, or purple. What is the
ratio of the number of blue marbles to the
number of purple marbles in the box?

¢ |) The number of green marbles in the box
is 4 times the number of blue marbles in
the box.

e |I) There are 192 green marbles in the box.
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The research funds of a certain company were
divided among three departments, X, Y, and Z.
Which one of the three departments received

the greatest proportion of the research funds?

e |) The research funds received by
departments X and Y were in the ratio 3 to
5, respectively.

e |l) The research funds received by
departments X and Z were in the ratio 2 to
1, respectively.
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TOGETHER are sufficient

Was the amount of John's heating bill for
February greater than it was for January?

¢ |) The ratio of the amount of John's
heating bill for February to that for January
was 26/25

e |I) The sum of the amounts of John's
heating bills for January and February was
$183.60.
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Statement (1) ALONE is sufficient

If sequence S has 120 terms, what is the 105th
term of S?

e |) The first term of S is -8
e |l) Each term of S after the first term is 10
more than the preceding term.
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TOGETHER are sufficient

If (a) is a 3-digit integer and (b) is a 3-digit
integer, is the units digit of the product of a
and b greater than 5?

e |) The units digit of a is 4.
e |I) The units digit of b is 7.

1S lags po @l sl Ja wilye SV o (3
(5) uo

1486 0)l Ologleoll

(4) JoVl 33l 515l -

(7) il sasdl 51>l -

sl Olghs
S>> e dadyo doglee JS Jomiwl e
a-ljlsw . “..-- -‘)’QJI . ".. | II l - | °

TOGETHER are sufficient

A, B, C, and O are points on a line. If C is the
midpoint of line segment AB and if O is the
midpoint of line segment CB, is the length of
line segment OB greater than 57

e |) The length of line segment AC is greater
than 8.

¢ |l) The length of line segment CO is greater

than 6.
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Statement (2) ALONE is sufficient

Did the sum of the prices of three shirts
exceed $60 ?

e |) The price of the most expensive of the
shirts exceeded $30.

e |l) The price of the least expensive of the
shirts exceeded $20.
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A telephone station has x processors, each of
which can process a maximum of y calls at any
particular time, where x and y are positive
integers. If 500 calls are sent to the station at
a particular time, can the station process all of
the calls?

e )X =600
e 1) 100 <y < 200
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EACH statement is sufficient

k,n, 12,6, 17
What is the value of n in the list above?

e Dk<n
e |l) the median of the numbers is 10.
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TOGETHER are sufficient

At what speed was a train traveling on a trip
when it had completed half of the total
distance of the trip?

e |) The trip was 460 miles long and took 4
hours to complete.

e |l) The train traveled at an average rate of
115 miles per hour on the trip.
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If nis a positive integer, what is the tens digit
ofn?

e |) The hundreds digit of 10 n is 6.
e |l) The tens digitof n + 1is 7.
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Statement (1) ALONE is sufficient

The cost of 10 pounds of apples and 2 pounds
of grapes was $12. What was the cost per
pound of apples?

e |) The cost per pound of grapes was $2.
e |l) The cost of 2 pounds of apples was less
than the cost of 1 pound of grapes.
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Statement (1) ALONE is sufficient
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What was the median annual salary for the
employees at Company X last year?

e |) Last year there were 29 employees at
Company X.

e |l) Last year 12 employees at Company X
had an annual salary of $24,000.
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TOGETHER are NOT sufficient

Each of the marbles in a jar is either red or
white or blue. If one marble is to be selected
at random from the jar, what is the probability
that the marble will be blue?

e |) There are a total of 24 marbles in the jar,
8 of which are red.

e |I) The probability that the marble selected
will be white is I/2.
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TOGETHER are sufficient

What is the value of 10 percent of y?

e |) 5 percent of y is 60.
e |l) yis 80 percent of 1,500.
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EACH statement is sufficient

If a + b + ¢ = 12, what is the value of b?

e Da+b=8
e lDb+c=6
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TOGETHER are sufficient
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What is the value of t?

e )s+t=6+s
e I =216

(1) doud & Lo
=l sl Olglos
S>> e dddyo dogleo JS Joxiwl e
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EACH statement is sufficient

is w + h* positive?

e |) his positive.
e [l) wis positive.
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Last semester, Professor K taught two classes, isx<57?
A and B. Each student in class A handed in 7
assignments, and each student in class B

e Nx*>5

o I)x?+x<5
handed in 5 assignments. How many students

were in class A ?
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Neuroscientist: Memory evolved to help animals react appropriately to situations they encounter by

drawing on the past experience of similar situations. But this does not require that animals perfectly

recall every detail of all their experiences. Instead, to function well, memory should generalize from

past experiences that are similar to the current one. The neuroscientist's statements, if true, most

strongly support which of the following conclusions?

a) At least some animals perfectly recall every detail of at least some past experiences.

b) Perfectly recalling every detail of all their past experiences could help at least some animals
react more appropriately than they otherwise would to new situations they encounter.

c) Generalizing from past experiences requires clear memories of most if not all the details of
those experiences.

d) Recalling every detail of all past experiences would be incompatible with any ability to
generalize from those experiences.

e) Animals can often react more appropriately than they otherwise would to situations they
encounter if they draw on generalizations from past experiences of similar situations.
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Many athletes inhale pure oxygen after exercise in an attempt to increase muscular reabsorption of

oxygen. Measured continuously after exercise, however, the blood lactate levels of athletes who

inhale pure oxygen are practically identical, on average, to those of athletes who breathe normal
air. The lower the blood lactate level is, the higher the muscular reabsorption of oxygen is. If the
statements above are all true, they most strongly support which of the following conclusions?

40

a) Athletes' muscular reabsorption of oxygen is not increased when they inhale pure oxygen
instead of normal air.

b) High blood lactate levels cannot be reduced.

c) Blood lactate levels are a poor measure of oxygen reabsorption by muscles.

d) The amount of oxygen reabsorbed by an athlete's muscles always remains constant.

e) The inhaling of pure oxygen has no legitimate role in athletics.

orzuS o\ OlLasll yolaiol 8505 wags guyleddl any (&5 GuzuSgl yebiiing Grudl Yl o 1asll
Gilbio il lazg (i guzaS gl g gdiiiny (| pues by oyl asy CyiSY JI Sgiue Gubiay SJ
Sole elga ¢ gaiiiiug il pus b Yl ddc ol giued

) g o) bzl e e @l o) g Gratetts @]l

sl OLLEWYl go ol pedi &bl Sloglsoll

olsl elggll cpo Vo (i cuzaS gl §liitwl dic 3133 ¥ guzuSoM SlLasll jolaiol -
lpiis S Y pll (el iSY JI Sl iase -

s gl Sl sl polaisllae golie gl cuisy Jllsgiuls -

Lasls &l (i Sl lgaiod (il cuzas gVl &S -

Lol 6 3bo 93 ol wstly ¥ il puzwS gVl gLl -

J=dl slol Slghas
vodll Sloglee yazl e
vadll b 8y6giall Slogleall oo ol zliiwl sll Jgl> @
ol (8 Blogleall el (e sainy g gliiwll auliy 3l Ll azgl @
vadll (8 doglo sl puSlsy I Ll yizs V 4l e
[ ]

salll (b 8151y doglse (e taiwy will Hluxll 4553 Y agil

A

& )] dualyisl dsoll sl B



Political theorist: Even with the best spies, area experts, and satellite surveillance, foreign policy
assessments can still lack important information. In such circumstances intuitive judgment is vital. A
national leader with such judgment can make good decisions about foreign policy even when
current information is incomplete, since ___ Which of the following, if true, most logically completes
the argument?

e a) the central reason for failure in foreign policy decision making is the absence of critical
information

e b) those leaders whose foreign policy decisions have been highly ranked have also been found
to have good intuitive judgment

e () both intuitive judgment and good information are required for sound decision making

e d) good foreign policy decisions often lead to improved methods of gathering information

e ¢) intuitive judgment can produce good decisions based on past experience, even when there
are important gaps in current information
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Which of the following most logically completes the passage? Leptin, a protein occurring naturally
in the blood, appears to regulate how much fat the body carries by speeding up the metabolism
and decreasing the appetite when the body has too much fat. Mice that do not naturally produce
leptin have more fat than other mice, but lose fat rapidly when they are given leptin injections.
Unfortunately, however, leptin cannot be used as a dietary supplement to control fat, since ___

e a) the digestive system breaks down proteins before they can enter the bloodstream

e b) there are pharmaceuticals already available that can contribute to weight loss by speeding up
the metabolism

e () people with unusually low levels of leptin in their blood tend to have a high percentage of
body fat

e d) the mice that do not naturally produce leptin were from a specially bred strain of mice

e ¢) mice whose bodies did produce leptin also lost some of their body fat when given leptin
injections
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During the earliest period of industrialization in Britain, steam engines were more expensive to

build and operate than either windmills or water mills, the other practicable sources of power for

factories. Yet despite their significant cost disadvantage, steam-powered factories were built in

large numbers well before technical improvements brought their cost down. Furthermore, they

were built even in regions where geographical conditions permitted the construction of wind- and

water-powered factories close to major markets. Which of the following, if true, most helps to

explain the proliferation of steam-powered factories during the earliest period of industrialization

in Britain?

a) In many areas of Britain, there were fewer steam-powered factories than wind- or water-
powered factories in the earliest period of industrialization.

b) Unlike wind- or water-powered factories, steam-powered factories were fueled with coal,
which had to be transported significant distances from the mine to the site of the factory.

¢) It was both difficult and expensive to convert a factory from wind power or water power to
steam power.

d) In the early period of industrialization, many goods sold in towns and cities could not be
mass-produced in factories.

e) In Britain, the number of sites where a wind- or water-powered factory could be built was
insufficient to provide for all of the demand for factory-produced goods at the time.
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Beginning in 1966 all new cars sold in Morodia were required to have safety belts and power
steering. Previously, most cars in Morodia were without these features. Safety belts help to prevent
injuries in collisions, and power steering helps to avoid collisions in the first place. But even though
in 1966 one-seventh of the cars in Morodia were replaced with new cars, the number of car
collisions and collision-related injuries did not decline. Which of the following, if true about
Morodia, most helps to explain why the number of collisions and collision-related injuries in
Morodia failed to decline in 19667

e a) Because of a driver-education campaign, most drivers and passengers in cars that did have
safety belts used them in 1966.

e b) Most of the new cars bought in 1966 were bought in the months of January and February.

e () In 1965, substantially more than one-seventh of the cars in Morodia were replaced with new
cars.

e d) An excessive reliance on the new safety features led many owners of new cars to drive less
cautiously in 1966 than before.

e ¢) The seat belts and power steering put into new cars sold in 1966 had to undergo strict
quality-control inspections by manufacturers, whether the cars were manufactured in Morodia
or not.
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Suncorp, a new corporation with limited funds, has been clearing large sections of the tropical

Amazon forest for cattle ranching. This practice continues even though greater profits can be made

from rubber tapping, which does not destroy the forest, than from cattle ranching, which does

destroy the forest. Which of the following, if true, most helps to explain why Suncorp has been

pursuing the less profitable of the two economic activities mentioned above?

e a) The soil of the Amazon forest is very rich in nutrients that are important in the development
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of grazing lands.

b) Cattle-ranching operations that are located in tropical climates are more profitable than
cattle-ranching operations that are located in cold-weather climates.

¢) In certain districts, profits made from cattle ranching are more heavily taxed than profits
made from any other industry.

d) Some of the cattle that are raised on land cleared in the Amazon are killed by wildcats.

e) The amount of money required to begin a rubber-tapping operation is twice as high as the
amount needed to begin a cattle ranch.
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A newly discovered painting seems to be the work of one of two seventeenth-century artists, either
the northern German Johannes Drechen or the Frenchman Louis Birelle, who sometimes painted in
the same style as Drechen. Analysis of the carved picture frame, which has been identified as the
painting's original seventeenth-century frame, showed that it is made of wood found widely in
northern Germany at the time, but rare in the part of France where Birelle lived. This shows that the
painting is most likely the work of Drechen. Which of the following is an assumption that the
argument requires?

e a) The frame was made from wood local to the region where the picture was painted.

e b) Drechen is unlikely to have ever visited the home region of Birelle in France.

e ) Sometimes a painting so resembles others of its era that no expert is able to confidently
decide who painted it.

e d) The painter of the picture chose the frame for the picture.

e e) The carving style of the picture frame is not typical of any specific region of Europe.
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Farmer: Worldwide, just three grain crops-rice, wheat, and corn-account for most human caloric

intake. To maintain this level of caloric intake and also keep pace with global population growth,

yields per acre from each of these crops will have to increase at least 1.5 percent every year, given
that the supply of cultivated land is diminishing. Therefore, the government should increase
funding for research into new ways to improve yields. Which of the following is an assumption on

which the farmer's argument depends?
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a) It is solely the government's responsibility to ensure that the amount of rice, wheat, and corn
produced worldwide keeps pace with global population growth.

b) Increasing government funding for research into new ways to improve the yields per acre of
rice, wheat, and corn crops would help to increase total worldwide annual production of food
from these crops.

¢) Increasing the yields per acre of rice, wheat, and corn is more important than increasing the
yields per acre of other crops.

d) Current levels of funding for research into ways of improving grain crop yields per acre have
enabled grain crop yields per acre to increase by more than 1.5 percent per year worldwide.

e) In coming decades, rice, wheat, and corn will become a minor part of human caloric intake,
unless there is government-funded research to increase their yields per acre
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Astronomer: Most stars are born in groups of thousands, each star in a group forming from the
same parent cloud of gas. Each cloud has a unique, homogeneous chemical composition.
Therefore, whenever two stars have the same chemical composition as each other, they must have
originated from the same cloud of gas. Which of the following, if true, would most strengthen the
astronomer's argument?

e a) In some groups of stars, not every star originated from the same parent cloud of gas.

e b) Clouds of gas of similar or identical chemical composition may be remote from each other.

e ¢) Whenever a star forms, it inherits the chemical composition of its parent cloud of gas.

e d) Many stars in vastly different parts of the universe are quite similar in their chemical
compositions.

e ¢) Astronomers can at least sometimes precisely determine whether a star has the same
chemical composition as its parent cloud of gas.
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Candle Corporation's television stations are likely to have more income from advertisers than
previously. This is because advertisers prefer to reach people in the 18- to 49-year-old age group
and the number of people in that group watching Candle television is increasing. Furthermore,
among Candle viewers, the percentage of viewers 18 to 49 years old is increasing. Which of the
following, if true, would most strengthen the argument that Candle Corporation will receive more
income from advertisers?

e a) Advertisers carefully monitor the demographic characteristics of television audiences and
purchase advertising time to reach the audiences they prefer to reach.

e b) Among people over 49 years old, fewer viewers of Candle stations buy products advertised
on television than do viewers of other stations.

e () There will be increasingly more advertisements on television that are directed at viewers who
are over 49 years old

e D) Candle stations plan to show reruns of television shows during hours when other stations run
shows for the first time

e E) People 18 to 49 years old generally have less disposable income to spend than do people
over 49 years old
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Editorial: The roof of Northtown's municipal equipment-storage building collapsed under the
weight of last week's heavy snowfall. The building was constructed recently and met local building-
safety codes in every particular, except that the nails used for attaching roof supports to the
building's columns were of a smaller size than the codes specify for this purpose. Clearly, this
collapse exemplifies how even a single, apparently insignificant departure from safety standards
can have severe consequences. Which of the following, if true, most seriously weakens the
editorial's argument?

e a) The only other buildings to suffer roof collapses from the weight of the snowfall were older
buildings constructed according to less exacting standards than those in the codes.

e b) The amount of snow that accumulated on the roof of the equipment-storage building was
greater than the predicted maximum that was used in drawing up the safety codes.

e () Because the equipment-storage building was not intended for human occupation, some
safety-code provisions that would have applied to an office building did not apply to it.

e d) The municipality of Northtown itself has the responsibility for ensuring that buildings
constructed within its boundaries meet the provisions of the building-safety codes.

e ¢e) Because the equipment-storage building was used for storing snow-removal equipment, the
building was almost completely empty when the roof collapsed.
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People who do regular volunteer work tend to live longer, on average, than people who do not. It
has been found that "doing good," a category that certainly includes volunteer work, releases
endorphins, the brain's natural opiates, which induce in people a feeling of well-being. Clearly,
there is a connection: Regular releases of endorphins must in some way help to extend people's
lives. Which of the following, if true, most seriously undermines the force of the evidence given as
support for the hypothesis that endorphins promote longevity?

e a) People who do regular volunteer work are only somewhat more likely than others to
characterize the work they do for a living as "doing good."

e b) Although extremely high levels of endorphins could be harmful to health, such levels are
never reached as a result of the natural release of endorphins.

e () There are many people who have done some volunteer work but who do not do such work
regularly.

e d) People tend not to become involved in regular volunteer work unless they are healthy and
energetic to begin with.

e ¢) Releases of endorphins are responsible for the sense of well-being experienced by many
long-distance runners while running.
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A provincial government plans to raise the gasoline tax to give people an incentive to drive less,
reducing traffic congestion in the long term. However, skeptics point out that most people in the
province live in areas where cars are the only viable transportation to jobs and stores and therefore
cannot greatly change their driving habits in response to higher gasoline prices. In light of the
skeptics' objection, which of the following, if true, would most logically support the prediction that
the government's plan will achieve its goal of reducing traffic congestion?

e a) The revenue from the tax will be used to make public transportation a viable means of
transportation to jobs and stores for far more people.

e b) The tax will encourage many residents to switch to more fuel-efficient cars, reducing air
pollution and other problems.

e () Because gasoline has been underpriced for decades, the province has many neighborhoods
where cars are the only viable means of transportation.

e d) Most residents who cannot greatly change their driving habits could compensate for high
gasoline prices by reducing other expenses.

e e) Traffic congestion is an especially serious problem for people for whom cars are the only
viable means of transportation.
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In Mernia commercial fossil hunters often sell important fossils they have found, not to universities
or museums, but to individual collectors, who pay much better but generally do not allow
researchers access to their collections. To increase the number of fossils available for research,
some legislators propose requiring all fossils that are found in Mernia to be sold only to universities
or museums. Which of the following, if true, most strongly indicates that the legislators' proposal
will fail to achieve its goal?

e a) Some fossil hunters in Mernia are not commercial fossil hunters, but rather are amateurs who
keep the fossils that they find.

¢ b) Most fossils found in Mernia are common types that have little scientific interest.

e ¢) Commercial fossil hunters in Mernia currently sell some of the fossils they find to universities
and museums.

e d) Many universities in Mernia do not engage in fossil research.

e e) Most fossils are found by commercial fossil hunters, and they would give up looking for
fossils if they were no longer allowed to sell to individual collectors.
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Negative number

Ratio

Proportion

Percentage

Function

Integer number

Even number

Odd number

Prime number

Absolute value

Decimals number

Average

Median
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Line
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Plus - Add

Sum - Total

Count

Subtract - Minus

Multiply - Times

Product of

Divide - Division

Divisible

Quotient

Remainder

Divisor

Factor

Multiple

Root

Power

Rounding

Positive number
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increasing - Incremental

Decreases - Decreasing -
Reduce

Less than - Fewer than -
Smaller than

More than - greater than -
larger than

Maximum - the greatest -
the largest

Minimum - the lowest -
the smallest

Doubled - twice

Tripled

Equal

Consecutive - Sequence

Digit
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Hundred
First

Last

Second
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Square

Rectangle

Cubic

Circle

Cylinder

Figure

Length

Width

Height

Circumference -
Perimeter

Area - Size

Volume

Radius

Diameter

Point

Degree

Coordinates

Probability

Approximately
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Previous

Next

After

Befor

Tax

Cost

Price

Speed

Distance

Time - Duration

Profit - Revenue

Sales

investe

Sufficient

Yet

But

Instead

however

Although

Furthermore
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Third

Half

One third

Fourths - Quarter

Three quarters

Measure

Value

Distinct

Side

Difference

Exclue

Identical

Contains

Each

Both

Either

Neither

Together - Combined

Entire

Inclusive
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